[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0}

.................................................

...............................

...............................

..........................

P ITELEE) SO

T
e
s
L
2L
L
5.

R N EE

S 8 SR B LARN R 0E JRRad LAARN RAARN RAAAN RARLN LARAN RARRDRRRES

2

=
2

N

= i b
N

=

—a— DUIVITITREIT_ TTTE AT
—e— DOM”mMKFEIt_TT_NEW; eFau t specPLessl
— —— DOM”mKFEIt_TT_NEWdefau|t_specPLess2
Efficienq —— DOM”mKEIt"TT"NEW e;au t~specPless3
—— DOM_mKFIt_TT_NEWdetault_specPLess

......................

Ratio

—
———

0 30
TP vert z (cm)

-30 -20 -10 0

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
z
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

Qp-

Ratio

Sim. PV z (cm)



	Contents
	Page 1


